Aufgabe 1

Blatt
01| 02| 03 [04| 05|06 | 07|08 |09]10|11| 12 | 13 | 14
10| nein| ja |nein| 3 | ja | Q |neinjnein|f 4| 1| 7 |nein| ja |nein
11| ja |neinfneinf O | jJa | Q | jJa |neinf— | 0| 9| ja |nein| ja
20| ja |neinjnein| -4 | ja | Q | ja a | 21319 ja ja ja
A |21 |neinfnein| ja | -8 |nein| Q |nein|nein| — | -2 | — | nein| nein| nein
ul22| — | — | —|—| - |- - | —|=—=|—|—| — | — | nein
f|130] ja ja ja | 24| ja |180| ja ja [ 3-2] 6] ja ja ja
g|3l|neinfnein| ja | 24 |nein| 62| ja |nein|— | -2| 9 | ja |nein| nein
a|40|nein| ja |nein| 3 | ja | 18 | ja ja | 1] 2|0/ ja |nein|nein
b |41 | nein| — | ja 8 | neinl 79 | ja ja |—|-2] 0] ja | nein| nein
e | 50| ja ja |nein| 12| ? 0 ja ja | 3-3] 6 |nein|nein| ja
51| nein{nein| ja |-24|nein| O ja |nein|—|-1| 4 |nein| — | ja
60|, — | — | — | —| — | — | | — |33 | == — | — | —
| —| - - - - — |l —=|—=| — | — | —
Aufgabe 2
Blatt
O1L | 02| 03| 04| 05|06| O7 | 08| 09 | 10 /11| 12 | 13 | 14
10| ja ja | nein| ja ja |30 ja ja | nein| ja |-1| ja ja | nein
11| nein| nein| ja |neinfnein|10| — | ja ja | nein| +1 | nein| nein| ja
A | 20| nein| ja ja ja ja | 2] ja |nein| ja ja | -1 ] ja | nein| nein
ul(2l| ja |nein|neinfnein| ja | 3 |nein|nein| ja |nein|-1|nein| — | ja
f|22) —| —| —| —|nein|—| — | — | — | —|—| — | — | —
g | 30| nein| ja ja |nein| ja | 0 |nein{nein|nein| ja | -1| ja |nein| ja
a|31l|nein| ja |nein|neinfnein| 0 | ja | nein|nein|nein|+1|nein| ja | —
b|40| ja |neininein| ja | jJa | 6 |nein| ja | ja | ja |+1| ja | nein| nein
e| 41| ja |nein| ja |nein|nein| 1 |nein|nein|nein|nein|-1| ja ja ja
50| ja ja | nein| ja ja | 7 | nein| ja ja ja | -1 | ja |nein| ja
51| ja ja |nein| — |nein| 4 |[nein| — | nein|nein|+1 | nein| ja | nein




Aufgabe 3

Blatt
Ol 02 | 03 | 04 | O5 | 06 | O7 | 08 | 09 | 10 |11 12 | 13 | 14

10 0 | ja ja | nein|nein| 8 |neinfnein|169| ja | 8 | ja | nein| nein

11| 0 | nein| nein| nein| ja 7 ja ja | 125| nein| 7 | — | nein| nein

20| 6 | ja ja |nein| ja |[nein| ja |nein| 40 | ja | 8 | ja ja ja
y 21| 6 nein | nein| nein|nein| ja | nein | nein 31 nein 1 nein| ja | nein
¢ 30| 6 | ja ja | nein|nein|fnein| ja | nein| 2 ja | 3 | nein|nein| ja

31| 6 | nein| ja | nein| nein| ja ja |nein| 3 |[nein| 1 | — | nein| nein
9 740 3 [nein ja [ nein| ? 8 ja | ja | 145| ja | 4| ja | ja | nein
a . : : . . . . . . :
b 41| 1 | nein| nein| nein ja 12 | ja | nein| ? ja | 4| Ja ja ja
o 2| — — | - | —|ja| - =] | —| —|—| — | — | —

50| 1 |nein| ja |nein| ja | ja | ja |nein|169| ja | 9 | ja |nein| ja

51| 1 | nein|nein| nein| — | ja ja |nein{289| ja | 6| ja | — | nein

o|—| — | — | — | — | — | — | — | — | —|—|nein| — | —
Aufgabe 4

Blatt
O1L | 02| 03 |04 05| 06 | O7 | 08 |09| 10 | 11 | 12 | 13 |14

10| nein| ja ja | 0] ja ja ja [ nein|ja| ja ja ja | nein| 2

11| ja | nein|nein| — | nein| nein|nein| ja | — | nein| nein| nein| nein| 1

20| ja ja ja | 1| ja |nein|nein| ja | ja|nein| ja | nein|nein| 23
A 21| nein| ja | nein|— | nein|{nein| — |nein|— | ja |[nein| ja | nein| -8
U 30| ja ja ja | 1] ja * ja ja |[ja| ja |nein| ja |nein| 3
f 31| ja |nein| ja |— | ja | nein|nein|nein|— |nein|fnein| — | ja | 3

40| nein| ja |nein| 4 | ja ja | neinjnein|ja| ja |nein| ja |nein| 6
g 41| ja | nein|nein|— | ja |nein| ja | nein| — | nein| nein| nein| nein| 2
b 50| ja ja ja | 1] ja ja ja ja | jal ja ja | nein| nein| 17

51| ja |nein| ja |— |nein| ja | nein| ja |— | nein| ja ja | nein| 23
e . :

60f — |ja | —|1| —| —| — | —lj@a|—|—|—|—|—

61| — (nein| — |—| — | — | —m | —m |—| — | — | — | — | —

n| —| — -1 - - | —|jJ@a| = = — | — | —

| — | — | — |- | | = —|Ja| =] = | = | = |—

x = Frage ist nicht beantwortbar!




